

Almost everywhere convergence of Walsh Fourier series of \mathcal{H}^1 -functions

by

N. R. LADHAWALA and D. C. PANKRATZ (Lafayette, Ind.)

Abstract. Let $S_n f$ denote the n th partial sum of the Walsh Fourier series of a function $f \in L^1(0, 1)$. We say that f is in \mathcal{H}^1 if $\sqrt{\sum_{n=1}^{\infty} (S_{2^n} f - S_{2^{n-1}} f)^2}$ is in L^1 . This corresponds to the definition of \mathcal{H}^1 given by Garsia [6] for martingales. We prove that for $f \in \mathcal{H}^1$ and $\{n_k\}_{k \geq 0}$ a lacunary sequence of positive integers, $S_{n_k} f$ converges a.e.; whereas, there exists a function in \mathcal{H}^1 whose full sequence of partial sums diverges. The space \mathcal{H}^1 , our results, and their proofs are all analogous to the classical trigonometric case.

Introduction. For $f \in L^1(0, 1)$, let $S_n f$ denote the n th partial sum of its Walsh Fourier series. We say that f is in \mathcal{H}^1 if the corresponding square function $Sf = \sqrt{\sum_{n=1}^{\infty} (S_{2^n} f - S_{2^{n-1}} f)^2}$ is in L^1 . Note that $\{S_{2^n} f\}_{n \geq 0}$ is a martingale, and so our definition is a special case of the definition of \mathcal{H}^1 given by Garsia [6] for martingales.

In this paper we prove the following theorems.

THEOREM 1. Let $f \in \mathcal{H}^1$ and $\{n_k\}_{k \geq 0}$ be a lacunary sequence of positive integers. Then $S_{n_k} f(x) \rightarrow f(x)$ ($k \rightarrow \infty$) for a.e. $x \in (0, 1)$.

THEOREM 2. There exists an $f \in \mathcal{H}^1$ such that its full sequence of partial sums, $S_n f$, diverges everywhere.

The space \mathcal{H}^1 , our results, and their proofs are all analogous to the classical trigonometric case.

We recall that in the trigonometric case, a function f belongs to H^1 if and only if f and its conjugate \tilde{f} are both in L^1 . According to Fefferman and Stein [4], this is equivalent to the Littlewood-Paley function $g(f)$ being in L^1 . The square function Sf is analogous to $g(f)$. (See Littlewood and Paley [7].) Moreover, let φ be the characteristic function of the unit interval, sufficiently smoothed out. Define

$$\varphi_t(x) = \frac{1}{t} \varphi\left(\frac{x}{t}\right) \quad \text{and} \quad f^+ = \sup_{t>0} |\varphi_t * f|.$$

Fefferman and Stein [4] have shown that f is in H^1 if and only if f^+ is in L^1 . $\varphi_t * f$ is nearly an average of f . In the Walsh system, $S_{2^n}f$ is exactly an average of f . According to Davis [2], $f \in \mathcal{H}^1$ if and only if

$$f^* = \sup_{n \geq 0} |S_{2^n}f| \text{ is in } L^1.$$

The trigonometric analogue of Theorem 1 is known. (See Zygmund [10], Vol. II, pp. 234–239.) The Littlewood–Paley function $g(f)$ plays an important role in the proof. The underlying idea of our proof is similar. We use the square function Sf in place of $g(f)$. To handle Sf , we follow arguments of Fefferman and Stein [3]. Our proof is not as complicated as in the trigonometric case because of the special nature of the Walsh functions.

An example of a function in H^1 with a.e. divergent Fourier series can be obtained by modifying Kolmogorov's L^1 example. His example was constructed as a sum of non-overlapping polynomials φ_k . By multiplying each φ_k by a suitable exponential $e^{i\mu_k x}$, we obtain a function $g \in H^1$ with a.e. divergent Fourier series (see Zygmund [10], Vol. 1). We follow the same line of argument. For the Walsh system, Moon [8] modified a construction of Stein [9] and gave an example of an integrable function h whose Walsh Fourier series diverges everywhere. This function is a sum of non-overlapping Walsh-polynomials, ψ_j , as in Kolmogorov's example. Our example is also obtained by multiplying each ψ_j by a Walsh function.

We thank Richard A. Hunt for his help in the preparation of this paper.

Definitions and properties. We recall some definitions and properties of Walsh functions.

ω will denote a dyadic subinterval of $(0, 1)$, and we will write $|E|$ for Lebesgue measure of a set E .

Let r_n be the n th Rademacher function. For any nonnegative integer n , with $n = \sum_{j=0}^{\infty} \varepsilon_j 2^j$, $\varepsilon_j = 0$ or 1 , the n th Walsh function is defined by

$$w_n = \prod_{j=0}^{\infty} (r_j)^{\varepsilon_j}.$$

For $n < 2^N$, w_n is constant on intervals ω , with $|\omega| \leq 2^{-N}$.

If $x = \sum_{i=0}^{\infty} \xi_i 2^{-i-1}$ and $t = \sum_{i=0}^{\infty} \eta_i 2^{-i-1}$, $\xi_i, \eta_i = 0$ or 1 , let $x+t = \sum_{i=0}^{\infty} |\xi_i - \eta_i| 2^{-i-1}$. Then $w_n(x+t) = w_n(x) \cdot w_n(t)$.

For $f \in L^1(0, 1)$, we have

$$(S_n f)(x) = \sum_{k=0}^{n-1} c_k(f) w_k(x) = \int_0^1 f(t) D_n(x+t) dt,$$

where $c_k(f) = \int_0^1 f(t) w_k(t) dt$ and $D_n = \sum_{k=0}^{n-1} w_k$ is the n th Dirichlet kernel. We will need to use the fact that,

$$\limsup_{n \rightarrow \infty} \frac{\int_0^1 |D_n(t)| dt}{\log n} > 0 \quad (\text{see Fine [5]}).$$

Let

$$\delta_j^*(t) = 2^j \{ \chi_{(0, 2^{-j-1})}(t) - \chi_{(2^{-j-1}, 2^{-j})}(t) \}, \quad j = 0, 1, 2, \dots$$

The modified Dirichlet kernel is defined as

$$D_n^*(t) = \sum_{j=0}^{\infty} \varepsilon_j \delta_j^*(t), \quad \text{where } n = \sum_{j=0}^{\infty} \varepsilon_j 2^j, \quad \varepsilon_j = 0 \text{ or } 1.$$

It can be shown that $D_n^*(t) = w_n(t) D_n(t)$. Let

$$(S_n^* f)(x) = \int_0^1 f(t) D_n^*(x+t) dt.$$

Note that,

$$(S_n^* f)(x) = w_n(x) (S_n w_n f)(x).$$

By Bessel's inequality, we have

$$\|S_n^* f\|_2 \leq \|f\|_2.$$

For $f \in L^1(0, 1)$, set

$$f^* = \sup_{n \geq 0} |S_{2^n} f| \quad \text{and} \quad Sf = \sqrt{\sum_{n=0}^{\infty} [S_{2^{n+1}} f - S_{2^n} f]^2}.$$

Davis [2] has shown that there exist positive constants c and C such that

$$c \|Sf\|_1 \leq \|f^*\|_1 \leq C \|Sf\|_1.$$

We say that $f \in \mathcal{H}^1$ if $Sf \in L^1$, or equivalently if $f^* \in L^1$, and we write

$$\|f\|_{\mathcal{H}^1} = \|Sf\|_1.$$

Proof of theorems.

Proof of Theorem 1. We show that for any lacunary sequence $\{n_k\}_{k \geq 0}$

$$(1) \quad |\{x \in (0, 1) : \sup_{k \geq 0} |S_{n_k} f(x)| > y\}| \leq \frac{c}{y} \|f\|_{\mathcal{H}^1}$$

for all $y > 0$, $f \in \mathcal{H}^1$. Since $S_{2^n} f$ converges to f in \mathcal{H}^1 norm, Theorem 1 will follow from (1) by the usual density argument.

It is well known that every lacunary sequence, $\{n_k\}_{k \geq 0}$ can be split into a finite number of lacunary subsequences $\{n_k^i\}_{k \geq 0}$ with $n_{k+1}^i \geq 2n_k^i$, and hence, we may assume $2^k \leq n_k < 2^{k+1}$. Let $d_k = S_{2^{k+1}}f - S_{2^k}f$. Then $S_{n_k}f = S_{2^k}f + S_{n_k}d_k$. Since

$$|\{x \in (0, 1) : \sup_{k \geq 0} |S_{2^k}f(x)| > y\}| \leq \frac{1}{y} \int_0^1 f^*(x) dx \leq \frac{c}{y} \|f\|_{\mathcal{H}^1},$$

it is sufficient to prove

$$(2) \quad |\{x \in (0, 1) : \sup_{k \geq 0} |S_{n_k}d_k(x)| > y\}| \leq \frac{c}{y} \|f\|_{\mathcal{H}^1}.$$

Applying the Calderón-Zygmund lemma [1] to $(\sum_{k=0}^{\infty} |d_k|^2)^{1/2}$, we obtain a collection of disjoint intervals, $\{\omega_j\}_{j \geq 0}$, such that

$$(a) \quad \left(\sum_{k=0}^{\infty} |d_k(x)|^2 \right)^{1/2} \leq y \quad \text{for a.e. } x \notin \Omega = \bigcup_{j \geq 0} \omega_j,$$

$$(b) \quad y < \frac{1}{|\omega_j|} \int_{\omega_j} \left(\sum_{k=0}^{\infty} |d_k(x)|^2 \right)^{1/2} dx \leq 2y \quad \text{for } j \geq 0,$$

and

$$(c) \quad \sum_{j=0}^{\infty} |\omega_j| \leq \frac{1}{y} \int_0^1 \left(\sum_{k=0}^{\infty} |d_k(x)|^2 \right)^{1/2} dx.$$

For each $k \geq 0$, we write $d_k = g_k + b_k$, where

$$g_k(x) = \begin{cases} w_{n_k}(x) \frac{1}{|\omega_j|} \int_{\omega_j} w_{n_k}(t) d_k(t) dt & \text{if } x \in \omega_j, \\ d_k(x) & \text{if } x \notin \Omega, \end{cases}$$

and $b_k = d_k - g_k$.

We will prove

$$(3) \quad \left\| \left(\sum_{k=0}^{\infty} |S_{n_k}^*(w_{n_k}g_k)|^2 \right)^{1/2} \right\|_2 \leq cy \left\| \left(\sum_{k=0}^{\infty} |d_k|^2 \right)^{1/2} \right\|_1.$$

To deduce (2) from (3) we note that $\int_{\omega_j} w_{n_k}(t) b_k(t) dt = 0$, and if $x \notin \omega_j$, $D_n^*(x+t)$ is constant as t varies over ω_j . Hence, for $x \notin \Omega$,

$$S_{n_k}d_k(x) = w_{n_k}(x) S_{n_k}^*(w_{n_k}d_k)(x) = w_{n_k}(x) S_{n_k}^*(w_{n_k}g_k)(x).$$

By inequalities (c) and (3) we have

$$\begin{aligned} & |\{x \in (0, 1) : \sup_{k \geq 0} |S_{n_k}d_k(x)| > y\}| \\ & \leq |\Omega| + |\{x \notin \Omega : \sup_{k \geq 0} |S_{n_k}^*(w_{n_k}g_k)(x)| > y\}| \\ & \leq \frac{1}{y} \int_0^1 \left(\sum_{k=0}^{\infty} |d_k(x)|^2 \right)^{1/2} dx + \left| \{x \in (0, 1) : \left(\sum_{k=0}^{\infty} |S_{n_k}^*(w_{n_k}g_k)(x)|^2 \right)^{1/2} > y\} \right| \\ & \leq \frac{1}{y} \left\| \left(\sum_{k=0}^{\infty} |d_k|^2 \right)^{1/2} \right\|_1 + \frac{1}{y^2} \left\| \left(\sum_{k=0}^{\infty} |S_{n_k}^*(w_{n_k}g_k)|^2 \right)^{1/2} \right\|_2^2 \\ & \leq \frac{c}{y} \left\| \left(\sum_{k=0}^{\infty} |d_k|^2 \right)^{1/2} \right\|_1 = \frac{c}{y} \|f\|_{\mathcal{H}^1}. \end{aligned}$$

To prove (3), we proceed as follows.

For $x \in \omega_j$,

$$\begin{aligned} \left(\sum_{k=0}^{\infty} |g_k(x)|^2 \right)^{1/2} &= \left(\sum_{k=0}^{\infty} \left| \frac{1}{|\omega_j|} \int_{\omega_j} d_k(t) w_{n_k}(t) dt \right|^2 \right)^{1/2} \\ &\leq \frac{1}{|\omega_j|} \int_{\omega_j} \left(\sum_{k=0}^{\infty} |d_k(t)|^2 \right)^{1/2} dt \leq 2y, \end{aligned}$$

by the vector-valued form of Minkowski's inequality and (b). For a.e. $x \notin \Omega$,

$$\left(\sum_{k=0}^{\infty} |g_k(x)|^2 \right)^{1/2} = \left(\sum_{k=0}^{\infty} |d_k(x)|^2 \right)^{1/2} \leq y,$$

by inequality (a). Therefore,

$$\begin{aligned} \left\| \left(\sum_{k=0}^{\infty} |g_k|^2 \right)^{1/2} \right\|_2^2 &= \sum_{j \geq 0} \int_{\omega_j} \left[\left(\sum_{k=0}^{\infty} |g_k(x)|^2 \right)^{1/2} \right]^2 dx + \int_{(0,1)-\Omega} \left[\left(\sum_{k=0}^{\infty} |g_k(x)|^2 \right)^{1/2} \right]^2 dx \\ &\leq (2y)^2 \sum_{j \geq 0} |\omega_j| + y \int_0^1 \left(\sum_{k=0}^{\infty} |d_k(x)|^2 \right)^{1/2} dx \leq 5y \left\| \left(\sum_{k=0}^{\infty} |d_k|^2 \right)^{1/2} \right\|_1. \end{aligned}$$

By Bessel's inequality

$$\|S_{n_k}^*(w_{n_k}g_k)\|_2^2 \leq \|g_k\|_2^2,$$

and so

$$\left\| \left(\sum_{k=0}^{\infty} |S_{n_k}^*(w_{n_k}g_k)|^2 \right)^{1/2} \right\|_2^2 \leq \left\| \left(\sum_{k=0}^{\infty} |g_k|^2 \right)^{1/2} \right\|_2^2 \leq 5y \left\| \left(\sum_{k=0}^{\infty} |d_k|^2 \right)^{1/2} \right\|_1.$$

This completes the proof of (3), and hence of Theorem 1.

Proof of Theorem 2. Let $2^{N-1} \leq n < 2^N$, $N \geq 1$, and $\omega_{N,j} = (j2^{-N}, (j+1)2^{-N})$, $0 \leq j < 2^N$. Note that, $D_n(x+t)$ is constant as x and t range over $\omega_{N,k}$ and $\omega_{N,j}$, respectively. For $0 \leq k < 2^N$, define

$$E_{N,k} = \{t \in (0, 1): w_{2N+k}(t) = \operatorname{sgn} D_n(x+t), \forall x \in \omega_{N,k}\}.$$

Then $|E_{N,k}| = \frac{1}{2}$ and $E_{N,k}$ is equidistributed over the intervals $\omega_{N,j}$, $0 \leq j < 2^N$.

Let

$$E_N = \bigcap_{k=0}^{2^N-1} E_{N,k} \quad \text{and} \quad \omega_j = E_N \cap \omega_{N,j}.$$

Clearly, $|E_N| = 2^{-2^N}$, and ω_j is an interval of length 2^{-2^N-N} .

We denote $\chi_{E_N}(t) \cdot w_{2N+2^N}(t)$ by $h_N(t)$ and $2^{N+2^N} + 2^{2^N+k}$ by $l(N, k)$, $0 \leq k < 2^N$. Then

(I) $c_m(h_N) = 0$ unless $2^{N+2^N} \leq m < 2^{N+2^N+1}$ and

$$(II) |(S_{l(N,k)+n} h_N)(x) - (S_{l(N,k)} h_N)(x)| = |E_N| \cdot \int_0^1 |D_n(x+t)| dt, \quad \forall x \in \omega_{N,k}.$$

(I) is clear.

To prove (II), first observe that, for $0 \leq k < 2^N$,

$$D_{l(N,k)+n}(t) - D_{l(N,k)}(t) = w_{l(N,k)}(t) D_n(t).$$

Hence, for $x \in \omega_{N,k}$,

$$\begin{aligned} |(S_{l(N,k)+n} h_N)(x) - (S_{l(N,k)} h_N)(x)| &= \left| \sum_{j=0}^{2^N-1} \int_{\omega_j} w_{2N+k}(t) D_n(x+t) dt \right| \\ &= \sum_{j=0}^{2^N-1} \int_{\omega_j} |D_n(x+t)| dt \\ &= |E_N| \cdot \int_0^1 |D_n(x+t)| dt. \end{aligned}$$

The last equality holds because

$$|\omega_j| = 2^{-2^N-N} = |E_N| \cdot |\omega_{N,j}|.$$

Choosing n such that

$$\int_0^1 |D_n(x+t)| dt = \int_0^1 |D_n(t)| dt \geq K \cdot N, \quad K > 0,$$

we obtain

$$|(S_{l(N,k)+n} h_N)(x) - (S_{l(N,k)} h_N)(x)| \geq K \cdot N \cdot |E_N|, \quad \text{for } x \in \omega_{N,k}.$$

Let $\{N_i\}_{i \geq 0}$ be any increasing sequence of positive integers such that $\sum_{i=0}^{\infty} N_i^{-1} < \infty$, and set

$$f(x) = \sum_{i=0}^{\infty} N_i^{-1} 2^{2^{N_i}} h_{N_i}(x).$$

Then

$$\int_0^1 |f(x)| dx \leq \sum_{i=0}^{\infty} N_i^{-1} < \infty, \quad \text{so } f \in L^1.$$

$$c_m(f) = \begin{cases} N_i^{-1} 2^{2^{N_i}} c_m(h_{N_i}) & \text{if } 2^{N_i+2^{N_i}} \leq m < 2^{N_i+2^{N_i+1}}, \\ 0 & \text{otherwise.} \end{cases}$$

Hence, for every $x \in (0, 1)$ and every i , there is a $k_i = k_i(x)$ such that $x \in \omega_{N_i, k_i}$ and

$$\begin{aligned} |(S_{l(N_i, k_i)+n_i} f)(x) - (S_{l(N_i, k_i)} f)(x)| \\ = N_i^{-1} 2^{2^{N_i}} |(S_{l(N_i, k_i)+n_i} h_{N_i})(x) - (S_{l(N_i, k_i)} h_{N_i})(x)| \geq K > 0. \end{aligned}$$

Thus $(S_n f)(x)$ cannot converge. Finally, to show $f \in \mathcal{H}^1$, we note that

$$(S_{2^p+1} f)(t) - (S_{2^p} f)(t) = \begin{cases} (S_{2^{N_i+2^{N_i+1}}} f)(t) - (S_{2^{N_i+2^{N_i}}} f)(t) & \text{if } p = 2^{N_i+2^{N_i}} \\ 0 & \text{otherwise,} \end{cases}$$

and

$$(S_{2^{N_i+2^{N_i+1}}} f)(t) - (S_{2^{N_i+2^{N_i}}} f)(t) = N_i^{-1} \cdot 2^{2^{N_i}} \cdot h_{N_i}(t) \quad \text{a.e.}$$

Therefore,

$$\begin{aligned} \|f\|_{\mathcal{H}^1} &= \int_0^1 (Sf)(t) dt = \int_0^1 \sqrt{\sum_{p=0}^{\infty} [(S_{2^p+1} f)(t) - (S_{2^p} f)(t)]^2} dt \\ &= \int_0^1 \sqrt{\sum_{i=0}^{\infty} [N_i^{-1} \cdot 2^{2^{N_i}} h_{N_i}(t)]^2} dt = \int_0^1 \sum_{i=0}^{\infty} N_i^{-1} \cdot 2^{2^{N_i}} \cdot \chi_{E_{N_i}}(t) dt \\ &= \sum_{i=0}^{\infty} N_i^{-1} < \infty. \end{aligned}$$

References

- [1] A. P. Calderón and A. Zygmund, *On the existence of certain singular integrals*, *Studia Math.* 88 (1952), pp. 85–139.
- [2] B. Davis, *On the integrability of the martingale square function*, *Israel J. Math.* 8, 2 (1970), pp. 187–190.

- [3] C. Fefferman and E. M. Stein, *Some maximal inequalities*, Amer. J. Math. 93 (1971), pp. 107–115.
- [4] —, — *H^p spaces of several variables*, Acta Math. 129 (1972), pp. 137–193.
- [5] N. J. Fine, *On the Walsh functions*, Trans. Amer. Math. Soc. 65 (1949), pp. 372–414.
- [6] A. M. Garsia, *Martingale inequalities, seminar notes on recent progress*, W. A. Benjamin, Inc., Reading, Mass., 1973.
- [7] J. E. Littlewood and R. E. Paley, *Theorems on Fourier series and power series*, Jour. London Math. Soc. 6 (1931), pp. 230–233.
- [8] K. H. Moon, *An everywhere divergent Fourier–Walsh series of the class $L(\log^+ \log^+ L)^{1-\varepsilon}$* , Proc. Amer. Math. Soc. 50 (1975), pp. 309–314.
- [9] E. M. Stein, *On limits of sequences of operators*, Ann. of Math. 74 (1961), pp. 140–170.
- [10] A. Zygmund, *Trigonometric series*, 2nd ed., Vol. I, II, Cambridge Univ. Press, Cambridge 1959.

Received July 14, 1975

(1046)

On parabolic Marcinkiewicz integrals

by

CALIXTO P. CALDERÓN* (Chicago, Ill.)

Abstract. Throughout this paper it is studied the existence of parabolic Marcinkiewicz integrals of the type:

$$J_\lambda(f)(x) = \int_{\mathbf{R}^n} \frac{\delta^\lambda(y)}{\varrho(|x-y|)^{\lambda+|a|}} f(y) \varphi(x-y) dy$$

where $\lambda > 0$, $\varrho(|x|)$ stands for the parabolic distance from x to the origin, $|a| = \sum_{i=1}^n a_i$, where $a_i > 1$, f belongs to $L^p(\mathbf{R}^n)$, $1 < p < \infty$, and φ is a function satisfying:

- (i) $\varepsilon^{-|a|} \int_{\varrho(|x|) < \varepsilon} |\varphi(x)| dx < M$;
- (ii) $\int_{\varrho(|x|) > 4\varrho(|h|)} \frac{|\varphi(x+h) - \varphi(x)|}{\varrho(|x|)^{|a|}} dx < C$.

0. Introduction. Let $\varrho(|x|)$ be the parabolic metric in \mathbf{R}^n , namely:

$$0.1. \sum_{i=1}^n \left(\frac{x_i}{\varrho^{a_i}} \right)^2 = 1, \quad a_i \geq 1, \quad i = 1, 2, \dots, n,$$

where $\varrho(|x|)$ is the only positive root of the above equation (see [4]). In [6], E. M. Ostrow and E. M. Stein introduced the following type of integrals:

$$0.2. T_\lambda(x) = \int_{\mathbf{R}^n} \frac{f(y) \delta^\lambda(y)}{|x-y|^{n+\lambda} + \delta^{n+\lambda}(x)} \varphi(x-y) dy$$

where $\lambda > 0$, $f \in L^1(\mathbf{R}^n)$ and $\varepsilon^{-n} \int_{|y| < \varepsilon} |\varphi(y)| dy < C$. Here, $\delta(x)$ stands for the Euclidean distance from x to a closed subset F of \mathbf{R}^n . In the above paper, the authors prove the existence a.e. of the integral 0.2. It has been pointed out by A. Zygmund in [8], that T_λ maps continuously $L^1(\mathbf{R}^n)$ into $L^1(\mathbf{R}^n)$ leaving as an open question whether if T_λ maps continuously $L^p(\mathbf{R}^n)$ into $L^p(\mathbf{R}^n)$ for $p > 1$. The purpose of this paper is to give an answer to that problem when assuming an extra condition on φ , namely:

$$0.3. \int_{|x| \geq 2|h|} \frac{|\varphi(x+h) - \varphi(x)|}{|x|^n} dx < C.$$

Here, C does not depend on h .

* University of Illinois at Chicago Circle.